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1 B AL 5 50 ik B Xk BE AL X 513025k %kk%%0550 5 510
2 X 4 g 4 63 Xk B VAR 5130 2sksksk5kk330520 & 510
3 S 5 47 ik BE AR X 5130255 %k4%%0550 5 410
4 RS i) 64 Xk B AR X 513025k %kk%%0550 5 310
5 X4k 4R Es 58 Xk EE AJRAE X 51302skskksetkk0550 5 310
6 I 3 51 Xk B AT X 51302%k%%%x%%055X 5 510
7 IV 3B 56 Xk EE AJRAE X 5130 2skksktksk30570 5 510
8 ES ) 60 X El AJRAE X 51302k ksokeketiok055X 5 410
9 AL RE 5 51 ik HS AJRAE X 51302skkkkk44% 7733 5 410
10 Rl FaR 54 46 i S SREBRE X 51302tk 438%0205 5 310
11 BE 5 54 itk B Hrinad X 51302 kkkk0574 5 510
12 mEF 5 24 ik HS ik B A X 511725884 4%%5532 5 310
13 [0} 4 52 SR ik B A X 51300sksskk06 26 5 510
14 B Ee 50 X EE At X 51302tttk 358X 7 510
15 {i] £+ 5 55 ik BR AL 51302skkk544%%0679 5 410
16 % E 4k 5 60 Xk EE T ZRAL X 51302kkskkksiekk 0055 5 510
17 A E 2 4 89 X S R ER A X 51302skiciotekiek(052 1 & 410
18 g Edl 5 62 ik B Xk BR AL [X 5130255 %k43%%0570 5 410
19 Bk 4 5 53 X R AR 51302sksestoktek045 1 5 310
20 RN 4 48 ik B KILH 5110244440949 &5 410
21 8 e 5 59 Sk E ik BR i 5130258k 444%001 1 %5 310
22 k& i 5 34 Yk B ik BB A X 51302sskkkskk4k0 198 & 510
23 R 3 69 SR EE VAR 51302 kkkk40557 D 620
24 I = 68 Xk B VAR 513023kt 0524 5 410
25 B A 5 51 itk BB SREBRL X 51300%kskskksickk 0675 7 310
26 7 H 5 60 X ER HEIAL X 5130044550653 ik 410
27 B E 5B 63 it BB ik BB A X 51302%kkkkx4%0575 Mk 310
28 RS 4 43 R EE AJRAE X 51302kttt 0529 5 510
29 {i] 25 & 5 58 it B it BF AL X 5130244440013 5 310
30 T 5 56 kBB SRR A X 51302skkskeieksek007 1 7 510
31 e ks 49 SREF | =X 5130284440017 5 410
32 [FE2s L) 52 pTMEl HEIUAE X 51300kt 0656 &5 310
33 S [F 4 5 56 ik S VAR 5130238k 0559 5 510
34 gk Syt 5’y 38 SREE | =5 =X 44188kttt 002 1 5 510
35 HARE Ei 51 ik S SN ] 513023%kkkkx5k0012 5 310
36 JE R 5 57 Yk B KHtX 51300%kkk5k%k0656 & 510
37 i & 5 60 it B K WX 5130244441350 5 510
38 FEAEY & 51 ik HS K WX 51300%kk54x%50626 &5 510
39 = i) 18 Xk Bl AR X 5117 2sksesktoksteksk 5993 5 510
40 w75 5’y 78 Xk ER SHRA 51302 kkkk60462 5 510
41 SRR IY 5 59 ik HS AJRAE X 51302skkk54%%%0555 5 510
42 ZE [H R, 5 53 Sk B K WX 51300s%skkkskk4k0635 & 510
43 TE=FE % 36 BTl X BB A X 51302skicioekiek055X 5 410
44 Tt i@ 32 i B R A [X 513028844 %%0562 5 820
45 BN = 11 BTSN ik B A X 5117 2sksesktokstoksk 5962 5 410
46 E = 4 36 BTl X BB AE X 51302skketoketiek 0060 %5 410
47 FE 5 37 Xk Bl Xk BR AL X 51302skk884%%%0559 5 510
48 TG 5 32 Sk B ik BB A X 51302sskkskk4k0555 & 510
49 A e 4 48 X S R ER A [X 51302skiciotekeiek(052 1 & 510
50 {TiRE 5 21 kB Xk BR AL X 5117 2skkk84%%%5979 5 310
51 e @ 63 ikt B it B AL X 51302%kk%444%6564 5 310
52 LN 4 80 X S R ER A [X 51052skcketokeictok 5262 & 310
53 40 54 82 X ER X ER A X 51052 kskkketckok 6964 7 310
54 a “ 62 pTMEl ik B A X 512923kt 8 346 5 410
55 EGES @ 84 it B it B AL X 5125 3kkk444%5269 5 310
56 B @ 82 it B it B AL X 51022%kkkkx4%4343 5 310
57 E- it = 81 pTMEl ik B A X 5130 2sksksksoksteksk0523 5 310




58 FLAF % 24 pTMEl ik B A X 5117 2skseketek 553X 5 510
59 X4 @ 78 BTl X BB AE X 51052skkciokkiok 5386 5 410
60 Tk & 3 3’8 62 Sk E Xk B A X 5130 2skks5kk0526 S 410
61 B 5 50 Xk B Xk BR AL X 51302sksksk8okstksk0195 5 410
62 25 ik [ E: 59 kB KK 51300kt 0633 5 510
63 MEft 5 56 Sk EE R4 X 5130 2sksksktokstk300 33 5 410
64 SRR & 48 ik ER X R A X 51302kl 4928 7 620
65 B Ei 46 Xk B ik B A (X 51302%5%%%x%%0010 5 410
66 AN © 50 ikt B KILH 51302%kk%4%%%0025 5 510
67 RALER 5 54 it B it B AL X 51302skkkk44%007X 5 310
68 YA L) 60 BTl KITAS 513023tttk 0017 & 510
69 SRR 3 56 ikt B KILH 51302%kk%4%%%0038 5 310
70 L& i 45 it B it B AL X 51300kk4444%0614 5 510
71 ¥R e 3’8 46 ik BJS ik B A X 5130258k k44%052 1 5 510
72 Ko 3’y 68 Xk Bl ik B A [X 5130 2sksksktoksteksk 0522 S 310
73 K 4 83 it B it B AL X 5130244440527 5 310
74 %5 i) 61 ik B Xk B A X 51302skk854%%%0558 5 410
75 S 5 73 ik B ik BE AL X 51302884 %%%0559 5 310
76 T A 4 51 pTMEl X BB AE X 51302skiciokkick056X %5 310
77 F4xl 7 21 kB AT 5117 2sksesktokstoksk 5958 & 310
78 FEMURK 3’y 21 X El ik B A [X 5117 2sksesktokstoksk 5963 S 310
79 N % 49 B HEI A [X 51300skictokekeiek06 1X & 930
80 JJ it 3 3’y 42 Sk E HEIAE X 51390skskskstokstoksk 4542 S 410
81 Whi 5% 5 10 ik BR HEIAL X 511725884 %%%5958 5 410
82 [ e e 85 SR EE VAR 51302 kkkk£0526 5 310
83 RS 5°q 84 Xk B VAR 5130 2skscsctoktek 052X 5 310
84 | pines 5 55 Xk Bl Xk B AL [X 51300555k kkx%0634 5 510
85 il 5y 28 X S R ER A [X 513023tttk 0529 & 310
86 BN 5 58 Sk Bl KH#tX 51300%kkk4k%%0616 & 410
87 | Tbist-, 4 44 ik B Hriiad X 5130 2skkottoiiolk 8364 7 410
88 B aiE 3 56 X EE VAR 51302 kkkk40618 gD 410
39 LR 4 57 it R SREE#E X 51302skktoteokk 0446 i 410
90 G % 62 ik S R ER A X 51302 kk0kk43£0570 & 410
91 kg g’y 56 ik EE S BB AL X 51302skkstkdeteokeok 0524 5 410
92 PRY 4 85 kBB X ER A X 51302kkskkkstokk 0522 7 410
93 £ B 52 it B ik BB A X 513023sksksktskokk (0548 & 410
94 e e 23 ikt B Xk BE AL X 5117 2%%%%%%%%5958 o 310
95 By 5 46 Yk B it BB A X 51302sskkkskk4k0593 & 510
96 HIA @ 38 it B it B AL X 5130 3kkk444%0648 5 510
97 A% H 43 Sk B ik B 1 X 513024%kkk44%%0197 & 510
98 5 & 55 ik S SREBAE X 51302k k360208 5 1530
99 eV % 32 X S R ER A X 513023kttt 0193 & 410
100 i 5 26 pTMEIl Xk B A X 5117 2sk884%%%5959 5 410
101 [ 5F 5 59 ik B KILH 51302%k%4444%0016 5 310
102 =14% 5 60 ik B K WX 51300skkkkk%0638 5 410
103 e 5 50 Xk HE A [X 51300skssksk306 10 5 620
104 il = 41 i B I X 513023kt 3444 5 410
105 & 5 58 ik BR HEIAL X 51172skkk44%8979 5 310
106 e i) 56 ik B HEI A [X 5130054440619 %5 410
107 SEAN 5 52 Sk B ik BB A X 51300tk 1034 & 310
108 THE % 56 ik B K HAX 51300tk 0634 5 410
109 K 5 7 kB Xk BR AL X 511705k kkk3%0094 5 620
110 ok B & 20 Xk ER ik B A (X 5117 2sksesktokatoksk 7303 5 410
111 N 4 39 SR X BB AL X 513023tttk 0527 5 410
112 AR = 45 X ER X ER A X 51302kkskktstokk 8382 7 620
113 Fibk#r 5 51 pTMEl ik B A X 513023kttt 1 714 5 410
114 MR AL ks 15 ik B Xk BE AL X 5117284445951 5 510
115 SRR 3 13 ik B ik BE A X 511725k kkk4%597 4 5 310
116 e = 45 Xk EE i B A 5130 2sks5kk30520 5 410




117 BRI I 43 ke | =R X 51292skksokkoor632 1 i) 310
118 EX [ 31 WEE | = A 51302skstkoor001 1 o) 410
119 o 4 5 59 ke | = HlEX 51302skkkotkk0016 i 410




